DAV VEDANTA INTERNATIONAL SCHOOL, LANJIGARH
HOLIDAY HOME WORK CLASS-VII

ENGLISH

1. Enlist all the types of S@ntences with 5 examples of each.

2. Write 20 affirmative sentences and transform them into interrogative.

3. Learn all the question answers of the lessons (Literature) —
‘Monkey Trouble’ & ‘Birdie, will You Pet?’

4. Read the following lessons of lessons Unit-1 “People at Work” of “My English Reader”

and prepare the vocabulary works-

(a) The New Assistant (b) Teachers’ prayer (c) The Vendor of Sweets (d)
Caution- Men at Work

ACTIVITY:

Collect the pictures of some people involved in particular occupations. (At least 5) Write about

them about their importance in our society. (Use Chart Paper - 2 pages)

SCIENCE

1.What is symbiotic relationship? Explain with example.

2.Explain the process of photo synthesis. Write its equation. Also write the raw
materials and products.

3. Write the procedure followed for writing the chemical formula of a substance.
With examples in each step discuss the same.

4. Differentiate between pure substance and mixture with examples.

5. Draw the flow-chart to show the modes of nutrition in plants.

ACTIVITY
1.Make a chart for different cations and anions.
2. Prepare CARTOON ARTS for the interaction of different parts of a plant.



SOCIAL SCIENCE

1. Differentiate between the physical and the biological environment. (Geo)

2. On an outline map of India. Locate and label the areas of major soil types. (Page no.-11)
(Geo)

3. Prepare a comparative table as per the following format about the Rashtrakutas, the Palas
and the Pratiharas from different sources.

Dynasty Names of The Period | Religion Literary Art and
the Kings Achievements | Architecture
Rashtrakutas
Palas
Pariharas

4. Collect the pictures of miniature painting and mural painting and differentiate between
them.

5. Collect the information about Shankaracharya.

6. Recite the preamble.
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MATHEMATICS

WORKSHEET-1

1. Verify whether the following pair of rational numbers are equivalent or not.

. -7 28
(i) e and 5
. 17 45
(ii) = and ETH

5 : ,
2. Express—-as a rational number with

(i) Numerator -75
(ii) Denominator 64
3. Simplify the following.
(i) (-105) X 3 + 285 - 147
(ii) [225 + (- 15)] X [ (-121) + 11]
4, Write the rational numbers in %fnrm if,

(i) Numerator = 5 X (-3) and denominator = (-11) + 7

(ii) Mumerator = 75 + (-5) and denominator = 13 - (-12)
5. Find the value of x and y in each of the followings.
- 2 _6 __ ¥
(i) 8~ x ~ =512
. 9 =27 1
Wy ===
6. Write the following rational numbers in standard form,
. a4 .. =125
i) -124 i) =10
7. Write the absolute values of the following rational numbers
. -7 L1 .y =0 ., 28
i = (i) —- (iil) —7 (vl —7
8. Represent the following rational numbers on the number line.
. -17 . 11 .. 19 . 3
(ii) - (i) =~ (i) == liv) 5=
9. Arrange in ascending order.
-5 11 -8 7
6 ' -12' 9 ' -g "

10. Arrange in descending order.
13 15 -18 7
g8 "1z’ 1, ' -8"

11. Write a short biography on any one Indian mathematician and his/her contribution to
mathematics.



o9 17 7 —19 N 17
12. Add: (i) 57 and |3 (i) =77 and —3 (iii) 7 and 53
23 11
(iv) <z and =
) o B 23 o =17 =l oo =11
13. Subtract: (i) 4= from == (ii) =7 from — (i} —— from
17 ) 3 11
=T (iv) BTfmm?
14. Name the following properties.( where x, y and z are rational numbers )
(i) X+y=y+x. (i) xXy=yXx.
(iii) X+ (y+2z)=(x+y)+z . (iv) x X(yXz)=(xXvy)
Xz
(v)  xXly+z)=(xXy)+(xXz).
15. Simplify:
X 4 7 11 9
O s +++5+t5
5 8 15 -17
(ii) A T TS
(i) 34— 24+ 1%—_7?
16. (i) Ifx:%,y:%,ueriﬁ,rthatx+-._.r=1|,.-+x.
(ii) pr=_—5,q=%,uerif1,rthat p-gq#q-p.
(iii) If a=——, b=—, verify that aXb=bXa.
(iv) If x = _ILE ,y=% andz=_1—zl, verify that x+(y+z) = (x +y) +z.
(v) Ifx= _IIHS ,y=% andz=_1—tl, verify that x X (y Xz)=(xXy) Xz.

WORKSHEET-2

-3 7 ,
—— ; — on the same number line.
=]

5

1.Represent %;

2
=

2.Find "x" if

"--I|h-'

1 1
— and -E‘T.

(=]

3.0n a number line what is the length between

g

5

: . -8
4.Compare the pair of rational numbers |—— | and |

=
= 1

. . 2
5Which one is greatest out D‘FT;— J—.

5 5

-3

6. Arrange the following in ascending order:



4 5 2 1

7 g * 5 ¢ 3
7. Arrange the following rational number in descending order.
(i)—=3/10, =7/5, 9/45, 18/30
(ii)=3/4 ,—5/-12 ,—7/16, 3/2

8. (a) Find the missing number:- —2— = —5 __151
. =5 9
(b) Compare - = and —
9. Find any three rational numbers between _TE and %
10. Represent the following on the number line.
2 25
A 3 b) ==
11. Express: _7435 a rational number with ; (i)numerators 12 (ii) denominator 42
X . —2 5 2 .1 6
12. Find the reciprocal of =4 x =+ & + 5 x 5
13.Arrange the rational numbers in descending u::ru:ler'_TE : _ig ; 1—1;1—95
14. Arrange the rational numbers in ascending order —i6 .-12. 7.8
15 ' =30 * 10 ' 15 °

WORKSHEET-3

1.Find the product of —=5/7 and its reciprocal.

2. Verify (X+Y)+Z=X+(Y+Z) for X=2/5 ¥=3/4 and Z=1/4 .

3. Verify (X-Y)-Z#X-(Y-Z) for X= 1/5 ¥=-3/5and Z=2/5 .

4. Verify (X+Y)+Z = X+Y + X=Z for X= 1/3 ,Y=-3/4and Z=2/5 .

5. A tin holds 16% litres of oil. How many such tins will be required to hold 313% litres of oil?

3 1 5 _ 3 -1 3 _ 5§
6.Show that — (- -=57) = +X—- x5

7. Divide the difference of % and _Z—Ef' by their product.

8. Verify x+y =y +x by taking x =% andy =_2—3

9. For x= — & y = —

7 - . e
T T ,Verifythat ( x + vy ) = Xty

10. Simplify and express the result as a rational number in its lowest term .

2 1
— -4 +(81x27) + 0.09



11. Simplify: == + - +9

iy = (=L )= x =Ly
12 Verify: — x(— a ) =5 x=) -5 <)

13.Divide the sum nf% and % by their difference.

14.For x = T andy = —9 insert a rational number between (x—y ) ' andx™ ' —y~*.

2 5
15. Find the value of x-y and y-x forx= 3  and y = 9 _Are they same ?
7 5
16. Simplify and express the result in standard form. -4 x | 3 _6 )

17.The cost of E%m of cloth is RS?E%. Find the cost of cloth per metre.

18.How many pieces each of length E%m ,can be cut from a rope of length 30 metres ?

19.By what rational number should —— be multiplied to obtain 55 ?
3 -1 5 3 -1
20. Show that —x(—-—- ) =(<x T]_{_ _}

21. Verify that (x —y)* # x* —y* by taking x = _?—2 Y= %

WORKSHEET-4

1.Raju earns Rs16000 per month. He spends % of his income on food,; of the remainder on

’ m
house rent and 5/ 21of the remainder on education of children. How much money is still left
with him?

2. Simplify:(-3/7) x 6/5 + (1/10) x3/2 — (6/5) x (1/14)
3.If6/7 x (-3/13)+ (3/26) -( 3/13) x( 8/7) = (3/26) — (m) x 2, then what is the value of m ?

4. If x=2/3, y=4/5, z=3/4 show that x + (y + 2) # (x + y) + (x + 2).
5.5implify and Express the result in a lowest form.

2 1 1 2 1
Xt T X
6.(a) The product of two numbers is '3_5 ,One number is 'T Find the other number.

(b) Find reciprocal nf% x%

7.By taking x =_T2 , ¥ = =,z =_T1Juerifvthat (x +y)+ 2z =(x+z2)+(y + 2)



i = =3 =1 = =7
8. By taking X = = ‘.lr’—m, £ = n
Prove that X x( Y+Z) =X x Y+ X xZ
9.I1f 24 pairs of trousers of equal size can be prepared with 54 m of cloth, what length of cloth is

required for each pair of trousers?
10.A car is moving at average speed of EE% Km per hourWhat distance will it cover in }'%
hour?

11.The product of two rational numbers is -9 ,If one of the number is -12 .Find the other.

12 .By taking x= — % y=— =231

7 T o verify that x= (¥ — Z) # (X=Y)-(X+Z)



